20194F “RIEWA" BIFZ (25)

2% F1H 2019412 729H
1 REARS TR VS 5 1A
H= A=
REHTIA Rk Rk R TIA
It R % AR 1t B % ZRE
e, 7 iR & 7 - H
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 4H -1 -50 [£3] 4H -1 -50
2 it x 3NT +1 -430 [ri] 4S = -420
3 ,?ﬁ [£3] 3NT +2 460 [£3] 3NT +4 520 2
4 E=] x 3NT -1 100 ® INT = -90 5
5 it 1t 4C +1 150 1t 5D = 600 10
6 ,?ﬁ [ri] INT +1 -120 1t 2S -1 -50 2
7 PWE=] x 4Sx = -790 x 6SXx -1 200 14
8 TS 1t 6C = 920 x 5Hx -1 100 13
DATUMSit T
iRARBEZ T RA TEiPA Y. X+ 18 28
MHREE/ TR 8 =R/ AT INE 20 ait 18 28
=NELZNFY  -20 [ERIR/ AR -8 V.P. 6.22 | 13.78
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%2 2% 2019412 729H
2 FEFIFA VS 1 SRERREETA
H= A=
PRI R TIA R TIA A
Tt 7 - TapE— % B
T 7 TR = R 7 B
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] 3NT +2 -460 [ri] 3NT +2 -460
> |mt]l & | 2s | +1 | 140 | & | 2sx | -1 | 200 | s
3 panyiic] x 2NT = -120 x 2NT -2 200 8
4 E=] 1t 3C -1 -100 5| 2S -2 -200 3
5 it 1t 3C = 110 1t 3C = 110
6 ,?ﬁ [£3] 2C = 90 x 4S = -620 12
7 E=] 1t 4H -2 -200 x 4Sx = -790 11
8 TS x 3NT +1 -430 [ri] 4S = -420
DATUMSit T
FEFIFA SRERRE ST 5 | = | s
XUfZ/ £ -16 Fr e/ iR iReE -45 ait 34 8
BIAWAEHER 45 WV ENE S 16 VP. 1769 231
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%2 3R 2019412 729H
3 HIAERA VS 2 $EFRA
H= A=
ey RERTIN RERTIN ey
T, % B e 7 e
B BE= 7 EER @ B 74 . FEin
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x INT -2 100 x INT 150 2
2 it x 4S = -420 [£3] 5H -4 -400 1
3 ,?ﬁ [£3] 4S +2 480 [£3] 4S +1 450 1
4 WE=] 1t 5Hx -3 -800 5| 5H -1 -100 12
5 it 1t 4H = 620 1t 4H = 620
6 ,?ﬁ [ri] 4HX -1 200 [£3] INT +2 150 2
7 WE=] x 3H = -140 [ri] 3C = -110 1
8 TS x INT -1 50 [ri] INT -2 100 2
DATUMSit T
HRAERA FEFOPA Y. X+ 3 18
FER/RZ= 7 R A 23 ait 3 18
Srh&e/EEM  -23 MW EBER -7 V.P. 477 | 15.23
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2% B4R 2019412H29H
4 TP VS 3 HafkpA
A= H=
ZHkBA FREERA FREERA ZARBA
it : &% R =k it : FE R Figk
G 7 : EEm B BURS g D&
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wmkl 46 | anT | +2 | 460 | B | 3NT | +2 | 460
2 |mtl & | 4sx | 1 | 200 & | 3¢ | 1| s0 6
3 |mAE|l &5 | 21 | 2| 100 4 | 35 | = | 140 6
4 |wal 4 | anT | = | 600 | B | 45 | -2 | 200 | 12
5 |gel & | aNT | +2 | -120f %= | 25 | = | -110
6 |mm| /| | anT | +2 | 50 & | 4s | = | 620 | 10
7 |wal & | 4s | = | 620 & | 4as | = | 620
8 | WKkl it 4S +1 450 1t 4S +1 450
DATUM&iit iFE
ZZIRLPA FREEEA Z. X+ ] 22 | 12
EE/TR& 30 FEL/NIZ=S 20 &it 22 12
i/ S -20 Srhie/ZEEMnT -30 V.P. 13.78 | 6.22
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2% %5 % 20194E12H29H
5 1IPA VS 4 FRA
A= A=
) AN ZZIRBA ZZIRBA ) AN
it : EIRE R Fifk it : &% R : BAfRIR
BA (kM 7 BEW RN 7 : iR
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 2S +1 140 [£3] INT +2 150
2 it x 3NT +1 -430 x INT +2 -150 7
3 panyiic] 1t 2D -1 -50 [£3] 3C +1 130 5
4 WE=] 1t 2NTX -2 -500 2] 2S +2 -170 8
5 it [ri] 4S = -420 75 4S +2 -480 2
6 panyiie] x 4H = -620 x 2S +1 -140 10
7 PE=] [£3] 4S -3 -300 [£7] 2S = 110 9
8 TS [ri] 4S -1 50 LL PAS 2
DATUM% it %
TEi53PA ZZIEPA v 3+ 4 | 39
B/ EdhE 45 BE/TRE -5 ait 4 39
BRI, 5 TR/ S 45 V.P. 0.89 | 19.11




